(4)
Solve :

xf—?-—{zx 1} +{x_—1]3r =0

Jar OR
B IR -

E1-5::c+:,,|' =g
dt

%—:Hﬁy =g
Solve :
%‘+5x+y e!

dy

~ _x+3y=e*
at y
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questions having same marks.
gai-1 / UNIT-I
Q1. d«hs wa TR w faz SR
State and prove that Leibnitz theorem.
Jyar OR
ot y = (@ ~ 1)" 78 Rz S
Yom = (2m) !
If y = (x2 = 1)™ then prove that :

Yom = (2m) !
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Q 2 Hﬁyz{x2+yz}+a?{x2—y3)=ﬂa§l§'ﬂ'ﬂﬁlﬁl

(2)
goi-11 / UNIT-II

Trace the curve .

Y02 + y) + 802~ ) = 0

srgar OR

aaix’-zﬂy+xy2+x3—xy+2=ﬂa§‘r

el s Pl

Find the asymptotes of the following curve :
-2y +xy? + 32— xy +2=0

wou-II1 / UNIT-III

Q.3 #HH B
e* (%% +1
__(.__zldx
(1+x)
Evaluate :
e*(x% +1
(1,
(1+x)
s OR
Rz e
" 1
lim [ﬂ—)" =e
n—sw| Nl
H-175

ALkt (3)

Prove that :
1

lim ["—T:]" e
n—at NI
go®-1IV / UNIT-IV
Q. 4. =@ o0 B
2\ dy 2=
(1+x )-d—x+2xy—4x =0
Saolve :
[1+x2]ii+2xy—4x2=ﬂ
dx
e OR
& P &5
(1 + 4xy + 2y2) dx + (1 + 4xy + 2x?) dy = 0
Solve :
(1 + 4xy + 2y?) dx + (1 +4xy + 2x%) dy =0
Fol-V | UNIT-V

Q5 & dfod:
d’y
s
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dy
2x-1)=L +(x-1)y=0
(2x=N) g +(x=y



